E70RIFF/NFIUF KRR IFT 3B A 2017/7/30
B OB =®

M3—A | BHE | S16Th | HEE | VL4 | BEE | RN | LT, | #xAE |G
O O O 8 — 0|7 — 215 — 7333 — 267
THRE 3 — 0] 2 — 112 — 1 ( 3) ( 5) ( 8 ) ( 66 ) 1
6 — 5 — 2|4 — a4
129 — 581123 — 90 ] 81 — 119
X X X 0O — 3|2 — 7|6 — 15|261 — 374
s1mFm| 0 — 3 o= 2|1 = 2| () | (5) | (o) | (-113) | a
— 6 3 — 4 2 — 9
58 — 129 113 — 119190 — 126
X @) X 1 — 2|4 — 58 — 121295 — 355
wmm | 1 - 2|2 — o= 2| (1) | (=) | (-4 | (-0 | 3
2 — 5 4 — 3 2 — 4
90 — 123]119 — 113 86 — 119
X O O 2 — 1|5 — 4(13 — 8364 — 257
gqa | 1 - 2|2 — 1|2 - C1o | cio | osy | oy | o2
4 — 4|5 — 2|4 — 2
119 — 811126 — 90119 — 86

1/71R=2




KE4: FIORIRXRRKRXEEETI77 XinE

EH: HAEEM3—A)

HEEFEBS: 1 CFAME vs S1HTH)

=5 IFRINRAR-YtU4-

L]

TITAE

ik EF

D1 2
£ Ik

ok 5

D2 2
2l L

D3 2

19 —
21 —

21 —

21 —

2/7R=

21
11

S1H9H

INFE {ERE

A AR
25 %

ERAR B

om F-

B &%



KE4: FIORIRXRRKRXEEETI77 XinE

EH: HAEEM3—A)

AeES: 2 (AR vs V(1)
=5 IFRINRAR-YtU4-

D1

D2
icfan BB SIEA

e

D3
BE X

21 —

3/ 71 R=

21
21

18
17

21
21

b1

I Btk

WE A}

Hm

E

il
I



RE%: FIOREIRRREEEFI77 i
EH: E@FEM3—A)

HEES: 3 (S1HTH vs EERA)
£15: IFRNIRAR-vEs9-

M3—A

S1HIH 1 — 2 IRl

INKR (& 271 — 17 507 N 3
D1 1 18 — 21 2

AR KA 2 — 5 ik R=FEH

BT HFIE 20 — 21 #HHE =
D2 0 10 — 21 2

EE — Cifaxiib I E

2IF %= 2{ — 18 L% E7EA
D3 2 |21 — 16| o

IS TN — hiff A%

4/71R=



RE%: FIOREIRRREEEFI77 i
EH: E@FEM3—A)

HEES: 4 AME vs YL 12)
£15: IFRNIRAR-vEs9-

M3—A

PIRE 2 — 1 M1

ik EE 0 — 21 FIl B
D1 0 0O — 21 2

£ Ik — WWE A

R P 21 — 19 =5 F2
D2 2 17 — 21 1

B & 5 — 1 2l 55—

£ Ik 271 — 14 BAR EBX
D3 2 [ 12 — 21| 4

Z| T 5 — 1 BAR RE

5/7 R—



Re%: BIVRREXREEF)77 i
#EB: HEE(M3—A)

HEE’ES: 5 (S1HIhvs V1)
£15: IIFRNRAR -Vt 45—

M3—A

S1HIH 1 — 2 Jb1a

25 = 10 — 21 ZFIl B
D1 0 12 — 21 2

om F{Z — WE FA

INKR (S 18 — 21 BEAR BEX
D2 2 21 — 17 1

B HF 5 — 4 BK FEE

LB ZREA 14 — 21 =8 F2
D3 0 |10 — 21| »

KA Kt — 2l 55—

6/7R—



KE4: FIORIRXRRKRXEEETI77 XinE

EH: HAEEM3—A)

HEES: 6 (PFIMKE vs HEM)

=5 IFRINRAR-YtU4-

L]

TITAE

ik EF

D1 1
£ Ik

ok 5

D2 2
2l L

D3 2

21 —
14 —

21 —

21 —

7/7R=

17
21

12
18

[EZE=Tei

[icfa s R SIE

EE IR

A =

Ei =HFH

LIS BYEA



